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1. Equivalent of p ⇒q is –––––––– (    ) 
p ⇒q MýS$ ™èl$ËÅ {ç³Ð]l è̂l ]̄l… ––––––––
1) ∼p ⇒∼q 2) q ⇒ p 3) p ⇒∼q 4) ∼q ⇒∼p

2. Whose truth value should be true so as to flow current from A to B in the following circuit.
MìS…¨ Ñ§ýl$Å™Œæ AÍÏMýSÌZ A ]̄l$…_ B MýS$ Ñ§ýl$Å™Œæ {ç³çÜÇ…^éË…sôæ MìS…¨ÐésìæÌZ §ól° çÜ™èlÅÑË$Ð]l
çÜ™èlÅ… M>Ð]lÌñæ ]̄l$? (    ) 

1) p∨q 2) p∧q 3) p⇒q 4) ∼p⇒∼q

3. A, μ, φ are the three sets. The relation does not exist –––––––– (    ) 
A, μ, φ A ó̄lÑ Ð]lÊyýl$ çÜÑ$™èl$Ë$ AÆ‡¬™ól MìS…¨ÐésìæÌZ °f… M>°¨ ––––––––
1) A∪φ = A 2) (A1)1 = A 3) A∪μ = μ 4) A∪A' = A

4. A= {–2, –1, 0, 1, 2} set builder form of A is –––––––– (    ) 
A= {–2, –1, 0, 1, 2} ° çÜÑ$† °Æ>Ã×æ Æý‡*ç³…ÌZ Æ>Ä¶æ$V>––––––––
1) A = { x/x∈z, –2 < x < 2 }  2) A= {x/x∈z, –2 ≤ x ≤2 }
3) A= {x/x∈z, –2 <x <2 } 4) None of these

5. {x/x∈AΔB} = –––––––– (    ) 
1) {x/x∈A–B} 2) {x/x∈B–A}
3) {x/x∈A∪B, x∉A∩B} 4) None

6. If f: R–{3}→R is  defined by then = –––––––– (    ) 

{ç³Ðól$Ä¶æ$… f: R–{3}→R;  ó̂l °Æý‡Ó_™èlOÐðl$™ó  l = ––––––––

1) 0 2) 1 3) x 4) 3x

3x 3f
x 1

+⎛ ⎞
⎜ ⎟−⎝ ⎠

x 3f(x) =
x 3

+
−

3x 3f
x 1

+⎛ ⎞
⎜ ⎟−⎝ ⎠

x 3f(x) =
x 3

+
−

APRJC Mathematics Model Paper-3

p q

A B



www.sakshie
ducatio

n.c
om

www.sakshieducation.com

www.sakshieducation.com

7. f = {(1, 3), (2, 3), (3, 3), (4, 5), (5, 3)} then f is a –––––––– (    ) 
1) identity function 2) One-One function
3) constant function 4) None
{ç³Ðól$Ä¶æ$… f= {(1, 3), (2, 3), (3, 3), (4, 5), (5, 3)}V> °Æý‡Ó_™èlOÐðl$™ól f  A ó̄l¨ ––––––––
1) ™èl™èlÞÐ]l$ {ç³Ðól$Ä¶æ$… 2) A ó̄lÓMýS {ç³Ðól$Ä¶æ$…
3) íÜ¦Æý‡ {ç³Ðól$Ä¶æ$… 4) H©M>§ýl$

8. If f= {(1, 2), (2, 3), (2, 3), (3, 4), (4, 1)} then fof = –––––––– (    ) 
{ç³Ðól$Ä¶æ$… f= {(1, 2), (2, 3), (2, 3), (3, 4), (4, 1)} AÆ‡¬™ól fof = ––––––
1) {(3, 1)} 2) {4, 3)} 
3) {(1, 3) (2, 4),(3, 1), (4, 2)} 4) {(1, 3), (1, 4),(2, 3), (2, 4)}

9. If y= f(x)= 2x2+3, –4≤ x≤4 then range of f = –––––– (    ) 
y= f(x)= 2x2+3, –4≤ x≤4 V> °Æý‡Ó_™èlOÐðl$™ól f ÐéÅí³¢ = ––––––
1) 3 ≤ y ≤ 11 2) 3 ≤ y ≤ 35
3) –29  ≤ y ≤35  4) –35  ≤ y ≤57

10. If f(x) = x2+kx+1 and f(x)= f(–2) then K = –––––– (    ) 
f(x) = x2+kx+1, f(x)= f(–2) AÆ‡¬™ól K = –––––––

1) 0 2) 2 3) –2 4) 4

11. If ax3+ 9x2+ 4x–10 is divided by x–3 the remainder is 2 then a = ––––––– (    ) 

ax3+ 9x2+ 4x–10 A ó̄l ºçßæ$ç³¨° x–3 ó̂l ¿êW… è̂lV> Ð]l ó̂la ÔóæçÙ… 2 AÆ‡¬™ól §é° ÑË$Ð]l
–––––––
1) –3 2) 3 3) 0 4) 4

12. Equation whose roots are 3±√2 is ––––––– (    ) 

3±√2 Ë ]̄l$ Ð]lÊÌêË$V> VýSË Ð]lÆý‡Y çÜÒ$MýSÆý‡×æ… = –––––––
1) x2+ 6x+2= 0 2) x2–6x+7 = 0
3) x2+5x+7= 0 4) x2–6x–7= 0

13. If x2 – 11x + 10 >0, then 'x' = ––––––– (    ) 

x2 – 11x + 10 > 0 AÆ‡¬™ól x ÑË$Ð]l –––––––
1) 1 < x < 10 2) x < 1 or x > 10 
3) –1 < x < 10 4) None
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14. Middle term in the expansion of = ––––––– (    ) 

ÑçÜ¢Æý‡×æÌZ  Ð]l$«§ýlÅç³§ýl… –––––––

1) 2 2) 3 3) 6 4) 8

15. The relation between 'm', 'n' if (m+n)x2 + nx+ (m – n) = 0 has equal roots is –––– (    ) 

(m+n)x2 + nx+ (m – n) = 0  Ð]lÊÌêË$ çÜÐ]l* ]̄lOÐðl$™ól 'm' ,  'n' Ë Ð]l$«§ýlÅ çÜ…º…«§ýl… ––––
1) m = n 2) 4m2 — 3m2 3) sm2= 4n2 4)  4 m2–5n2

16. If the  number of solution is infinite then –––––––– (    ) 
1) Isoprofit line intersets the polyhedral set
2) Isoprofit line makes 90° angle with the edge of polyhedral set
3) Isoprofit line coincides with the edge of the polyhedral set
4) None
C_a ]̄l çÜÐ]l$çÜÅMýS$ A ]̄l…™èl Ýë«§ýl ]̄lË$  –––––––– çÜ…§ýlÆý‡Â…ÌZ E…yýl$ ]̄l$.
1) ™èl$ËÅ¿êÆý‡ Æó‡Q, ºçßæ$¿¶æ$f {´ë…™é°² Q…yìl…_ ]̄lç³#yýl$
2) ™èl$ËÅ¿êÆý‡Æó‡Q, ºçßæ$¿¶æ$f {´ë…™èl… A… è̂l$™ø Ë…º…V> E ]̄l²ç³#yýl$
3) ™èl$ËÅ¿êÆý‡Æó‡Q, ºçßæ$¿¶æ$f {´ë…™èl A… è̂l$™ø HMîS¿¶æÑ…_ ]̄lç³#yýl$
4) H©M>§ýl$

17. Which of the following minimise the objective function   is (    ) 

A ó̄l Ë„ýSÅ{ç³Ðól$Ä¶æ$… MìS…¨Ðé°ÌZ H ¼…§ýl$Ð]l# Ð]l§ýlª MýS°çÙt… AÐ]l#™èl$…¨?

1) (5, 0) 2) (2, 3) 3) 4) (0, 5)

18. If a+b+c=0 then = –––––– (    )

a+b+c=0 AÆ‡¬™ól = ––––––

1) 2 2) –1 3) 1 4) –3

b c
1

x x 1−Σ
+ +

b c
1

x x 1−Σ
+ +
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19. = –––––– (    ) 

1) 6 2) 10 3) 20 4) None 

20. then x belongs to the set = –––––– (    ) 
AÆ‡¬™ól x MýS$ Ýë«§ýl ]̄l çÜÑ$† = ––––––

1) {x/  –8 < x < 2} 2) x/ –8 ≤ x ≤ 2}
3) {x/ –8 > x > 2} 4) x2+x+3=0

21. If p, q, r are in G.P, then logap, logaq, logar, will be in –––––– (    ) 

p, q, r, A ó̄lÑ VýS$×æ{ÔóæÉìlÌZ E…sôæ logap, logaq, logar Ë$ –––––– {ÔóæÉìlÌZ E…sêÆ‡¬.
1) A.P. 2) G.P. 3) H.P. 4) None 

22. Expressing as a rational number  (    ) 
]̄l$ AMýSÆý‡×îæÄ¶æ$ Æý‡*ç³…ÌZ Æ>Ä¶æ$V> = –––––––

1) 2) 3) 4)

23. If there are n geometric means between m and  n then the common ratio of the G.P. is 
m,  nË Ð]l$«§ýlÅ n VýS$×æÐ]l$«§ýlÅÐ]l$Ð]l¬Ë$…sôæ ÝëÐ]l* ]̄lÅ °çÙμ†¢ ––––– (    ) 

1) 2) 3) 4)

24. The sum of the multiples of 3 between 1 and 100 is ––––– (    ) 
1, 100 Ð]l$«§ýlÅVýSË 3 VýS$×ìæfÐ]l¬Ë Ððl¬™èl¢… ––––––––––
1) 1683 2) 1863 3) 1363 4) 1386

25. H1, H2. are two harmonic means  between a, b then (    ) 

a, b Ë Ð]l$«§ýlÅVýSË çßæÆ>™èlÃMýS Ð]l$«§ýlÅÐ]l$Ð]l¬Ë$ H1, H2.AÆ‡¬™ól 

1) 2) 3) 4)

26. In ΔABC : DE//BC; AD= 4x–3; DB= 3x–1; AE= 8x–7, EC = 5x–3 ; the value of x is 
ΔABCÌZ DE//BC; AD= 4x–3; DB= 3x–1; AE= 8x–7, EC = 5x–3 ; AÆ‡¬™ól x ÑË$Ð]l (    ) 
1) 1/2 2) 1 3) –1 4) 2
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27. The angles of a triangle are in the ratio 1:2:3. The ratio of their corresponding sides is 
{†¿¶æ$f Mø×êË$ 1:2:3 °çÙμ†¢ÌZ E…sôæ ÐésìæMðS§ýl$Æý‡$V> E…yól ¿¶æ$gêË °çÙμ†¢ (    ) 

1) 1: √3 : 2 2) 1 : 2: √3 3) √3 :1: 1 4) 2 : √3 : 1

28. In the figure OA = 12cm,   ∠A= 60° and AB, AC are tangents, then OB = –––––  (    ) 
AB, ACË$ Ð]l–™é¢°MìS XíÜ ]̄l çÜμÆý‡ØÆó‡QË$ OA = 12cm, ∠A= 60°AÆ‡¬™ól OB = –––––

1) 6√3 cm  2) 16 cm
3) 6 cm 4) 3 cm

29. In the figure ΔAOC = 120°, then ∠ABC = ––––––––– (    ) 
ç³MýSPç³r…ÌZΔAOC = 120°, AÆ‡¬ ]̄l ∠ABC = –––––––––

1) 50° 2) 60°
3) 120° 4) 180°

30. Perimeter of the triangle ABC (Show in figure) is = –––––––
ç³MýSP ç³r… ]̄l$…_ ΔABC è̂l$r$tMöË™èl = ––––––––– (    ) 
1) 22 2) 28
3) 24 4) 32

31. If a +b = 1, then the points of intersection of the lines ax+by =1, bx+ay=1 is ––––– (    ) 
a+b = 1, AÆ‡¬™ól ax+by=1, bx+ay=1 çÜÆý‡â¶æÆó‡QË Q…yýl ]̄l ¼…§ýl$Ð]l# = –––––––––
1) (a, b) 2) (b, a) 3) (1, 1) 4) None

32. Pairs of perpendicular lines among the following is –––––– (    ) 
Ë…º…V> E…yól çÜÆý‡â¶æÆó‡QË f™èl ––––––
1) 2x+3y=5 ; 3x–2y=9 2) 2x+3y=5 ; –3x–2y=9
3) 2x+3y=5 ; 2x+3y=9 4) 2x+3y=5 ; 3x+2y=9

33. The centroid of the triangle whose sides are x = 0, y = 0, x+y = 6 is ––––––––– (    )
x = 0, y = 0, x+y = 6 ¿¶æ$gêË$ çÜÒ$MýSÆý‡×êË$V> VýSË {†¿¶æ$f VýS$Æý‡$™èlÓ MóS…{§ýl…
1) (0, 0) 2) (2, 2) 3) (3, 3) 4) (6, 6)
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34. P and Q are points on the line segment joining A (–2, 5), B(3, 11) such that AP = PQ = QB,
The mid point of PQ is
A (–2, 5), B(3, 11) ¼…§ýl$Ð]l#Ë ]̄l$ MýSÍõ³ Æó‡RêQ…yýl…Oò³  AP = PQ = QB, AÄôæ$Årr$Ï P, Q Ë$
HOÐðl¯é Æð‡…yýl$ ¼…§ýl$Ð]l#OÌñæ™ól PQ Ð]l$«§ýlÅ¼…§ýl$Ð]l# (    ) 
1) (–1/2, 4) 2) (1/2, 3) 3) (2, 3) 4) (3, 1/2)

35. The equation of the line whose y-intercept is L and which is perpendicular to x–2y+4=0, is
––––– (    ) 
x–2y+4=0, çÜÆý‡â¶æÆó‡QMýS$ Ë…º…V> E…r* y-A…™èlÆý‡Q…yýl… 2 V> VýSË çÜÆý‡â¶æÆó‡Q çÜÒ$MýSÆý‡×æ… 
1) 2x–y=2 2) 2x+y=2 3) x–2y=2 4) x+2y=2

36. Sin 2π/3+cosπ/3= –––––– (    ) 

1) 2) 3) 4)

37. If A =π/4 then (1+tan A)(1+tan2A) (1+tan3A) = ––––––– (    ) 
A =π/4 AÆ‡¬™ól(1+tan A)(1+tan2A) (1+tan3A)ÑË$Ð]l= –––––––
1) 6 2) 8 3) 4 4) 2

38. + = –––––– (    ) 

1) 2 secθ 2) 2sec2θ 3) 2cosecθ 4) 2 cosec2 θ

39.  secθ + tanθ = p,  , = –––––– (    )

1) cosθ 2) secθ 3) sinθ 4) cotθ

40. A man observes an object on the ground at an angle of depression 30° from the top of a
tower 30 metres high. Then the distance between the object and the tower is ––––– metres
K Ð]l$°íÙ 30Ò$.. G™èl$¢VýSË çÜ¢…¿¶æ… Oò³Mö ]̄l ]̄l$…_  ó̄lËOò³ E ]̄l² K Ð]lçÜ$¢Ð]l# ]̄l$ 30° °Ð]l$² Mø×æ…™ø
è̂l*õÜ¢ B Ð]lçÜ$¢Ð]l#MýS$ çÜ¢…¿¶æ… ´ë§é°MìS  Ð]l$«§ýlÅ§ýl*Æý‡… = –––––– (    ) 

1) 30√3 2) 10√3 3) 10 4) 15

41. The  mid-values of the class is used to calculate (    ) 
1) Arithmetic mean 2) Median 
3) Mode 4) Range

–––––– ÌñæMìSP… ó̂l§ýl$MýS$ ™èlÆý‡VýS† Ð]l$«§ýlÅ ÑË$Ð]lË$ Eç³Äñæ*WÝë¢Æý‡$
1) A…VýSVýS×ìæ™èl çÜVýSr$ 2) Ð]l$«§ýlÅVýS™èl… 

2

2
p 1
p 1

−
+

cosec
cosec 1

θ
θ +

cosec
cosec 1

θ
θ −

3
2

1 3
2

−3 1
2
−3 1

2
+
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3) »êçßæ$â¶æMýS… 4) ÐéÅí³¢ 

42. The mean  of data is 9. If each observation is multiplied by 3 and then 1 added to each
result. Find the mean of the new observations so obtianed. = –––––– (    ) 
JMýS §ýl™é¢…Ô¶æç³# çÜVýSr$ 9. §ýl™é¢…Ô¶æ…ÌZ° {ç³† A…Ô>°² 3ÌZ VýS$×ìæ…_ 1 MýSËç³V> Ð]l ó̂la çœÍ™éË
çÜVýSr$ ––––––––––––
1) 27 2) 29 3) 28 4) 26

43. Median of 15.03, 15, 15.3, is = –––––– (    ) 

15.03, 15, 15.3, Ë Ð]l$«§ýlÅVýS™èl…
1) 15.03 2) 15 3) 15.3 4) 151/3

44. ––––––– is a scalar matrix (    ) 

1) 2) 3) 4)

45. If then A.AT= ––––––– (    ) 

AÆ‡¬™ól A.AT=–––––––

1) 0 2) I 3) –A 4) A

46. Which of the following is a symmetric matrix ––––––– (    ) 
MìS…¨Ðé°ÌZ ÝûçÙtÐ]l Ð]l*{†MýS 

1) 2) 3) 4) All the above

47. , y = 13–6x. If these equations are writen in the form of AX=B then matrix 

A = –––––– (    )

, y = 13 – 6x çÜÒ$MýSÆý‡×êË ]̄l$ Ð]l*{†M>Æý‡*ç³… AX=B ÌZ Æ>Ä¶æ$V> A = ––––––

1) 2) 3) 4)
2 3
6 1

⎡ ⎤
⎢ ⎥
⎣ ⎦

2 7
6 1

⎡ ⎤
⎢ ⎥−⎣ ⎦

2 3
6 1

−⎡ ⎤
⎢ ⎥−⎣ ⎦

6 13
7 3

−⎡ ⎤
⎢ ⎥−⎣ ⎦

7 3
2

−= yx

7 3
2

−= yx

5 1
1 3
−⎛ ⎞

⎜ ⎟
⎝ ⎠

2 4
4 3

−⎛ ⎞
⎜ −⎝ ⎠

2 4
4 6

⎛ ⎞
⎜ ⎟
⎝ ⎠

cos sin
A

sin cos
θ θ⎛ ⎞

= ⎜ ⎟− θ θ⎝ ⎠

cos sin
A

sin cos
θ θ⎛ ⎞

= ⎜ ⎟− θ θ⎝ ⎠

0 3
3 0

⎛ ⎞
⎜ ⎟
⎝ ⎠

3 0
0 3

⎛ ⎞
⎜ ⎟
⎝ ⎠

1 1
1 1

⎛ ⎞
⎜ ⎟
⎝ ⎠

1 0
0 1

⎛ ⎞
⎜ ⎟
⎝ ⎠

115
3

215
3

115
3

215
3
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48.
,
then An = –––––– (    ) 

, AÆ‡¬™ól An = ––––––

1) 2) 3) 4)

49. Input, output, C.P.U. constitute ––––– parts of the computer.
1) software 2) Hardware 3) memory 4) Loops

C Œ̄æç³#sŒæ , AÐ]l#sŒæç³#sŒæ, C.P.U. Ë ]̄l$ MýS…ç³NÅrÆŠæÌZ ––––– Ñ¿êVýS… A…sêÆý‡$.
1) Ýë‹œtÐólÆŠæ 2) àÆŠæzÐólÆŠæ 3) Ððl$Ððl¬È 4) Ë*‹³

50. Very small electronic circuits were used in the ––––– generation. (    ) 
1) First 2) Second 3) Third 4) Fourth

A†_ ]̄l² GË{M>t°MŠæ Ð]lËÄ¶æ*Ë ]̄l$ ––––– ™èlÆý‡… MýS…ç³NÅrÆý‡ÏÌZ Eç³Äñæ*WÝë¢Æý‡$.
1) Ððl¬§ýlsìæ  2) Æð‡…yýlÐ]l 3) Ð]lÊyýlÐ]l 4) ¯éËYÐ]l

KEY

01) 4 02) 2 03) 4 04) 2 05) 3 06) 3 07) 3

08) 3 09) 2 10) 1 11) 1 12) 2 13) 2 14) 3

15) 4 16) 3 17) 3 18) 3 19) 4 20) 1 21) 1

22) 4 23) 1 24) 1 25) 2 26) 2 27) 1 28) 3

29) 2 30) 4 31) 3 32) 3 33) 2 34) 2 35) 2

36) 2 37) 2 38) 2 39) 3 40) 1 41) 1 42) 3

43) 3 44) 3 45) 2 46) 4 47) 4 48) 2 49) 2

50) 3

1 na
0 n

⎛ ⎞
⎜ ⎟
⎝ ⎠

n1 a
0 1

⎛ ⎞
⎜ ⎟
⎝ ⎠

1 na
0 1

⎛ ⎞
⎜ ⎟
⎝ ⎠

n a
0 n

⎛ ⎞
⎜ ⎟
⎝ ⎠

1
A

0 1
⎛ ⎞

= ⎜ ⎟
⎝ ⎠

a

1
A

0 1
⎛ ⎞

= ⎜ ⎟
⎝ ⎠

a

www.sakshieducation.com

www.sakshieducation.com


